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6,11 >37>8—>4—>12>10—>1—>9 —>5 — 2 —>>C1,C4,C8
Cg c7  Cc3 Cl2 C9 Cs C2

€11 C10

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

U= (=t 2utt 30 — 200 — 4u® 4 4uS 20— 20t — P 20 b w1,

—2u® — 2u'? 4+ 4t + 70t — 40 — 110® — 7 + 1208 4 6u° — 6ut — 40 + 40 +a + 3u—1,
w4 2ut — u'? — 6utt — 200 + 8u® + Tu® — 6u” — 10u® + 6u’ — 4u® —u + 1)
Y= w20+ b—u41, u —u Fut 20 —u a4 2, u® —u” — w420 4+t — 20 4 2u— 1)

* 2 irreducible components of dim¢ = 0, with total 22 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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1.
It = (—u'3—u'?+.. . 4+b—1, —2u'®—-2u'?+..-4a—1, v +2u®+. .. —u+1)

(i) Arc colorings

u10+u82u6+u4u2+1>
as =

S5ul® +5ut? + - —6u+3
ulB a2 — 20t — 10 200 w7 4+ 2u8 — 3w — 2ut + 30 —2u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes
= —Tul®—6u'2+18u! +25u10—244° — 440+ 9u" +53u8+13u® —35u* —13u? +23u2 +Tu—21



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ul +35ut® + -+ BTu 41
C2,C4 ut —9ut w1
c3,C7 ultt — 7t o — 6400 — 256
Cs,C8, Cy w4+ 2uB 4+ 3u+1
C6,C11 ut =2 w41
C10, C12 u +6ul 4+ 9+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y' 215y 4 — 1173y + 1
C2,C4 M =35y . 5Ty + 1
14 13
cs3,C7 y o =75y 4 .- - + 16384y + 65536
C5,C8, Cg Yt =30y =9y +1
C6, C11 gt =6y 4 =9y 41
€10, C12 Yy 6yt 4 — 25y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.959410 + 0.3287831
a= 2.22180 + 0.566101
b= 1.191800 + 0.1634741

—3.28458 4- 1.194951

—18.0412 — 3.14651

u = —0.959410 — 0.3287831
2.22180 — 0.566101
1.191800 — 0.1634741

—3.28458 — 1.194951

—18.0412 + 3.14651

—0.501889 + 0.9202091
0.725724 + 0.0273631
3.28288 — 0.174351

18.7096 — 2.36641

—13.94239 4- 0.063001

—0.501889 — 0.9202097
0.725724 — 0.0273631
3.28288 + 0.174351

18.7096 + 2.36641

—13.94239 — 0.063001

= —0.853744 + 0.6419161
= —0.410449 — 0.4667231
—0.596688 — 0.1715681

1.83462 + 2.504081

—6.20303 — 3.701351

—0.853744 — 0.6419161
= —0.410449 + 0.4667231
—0.596688 + 0.1715681

1.83462 — 2.504081

—6.20303 + 3.701351

1.014210 + 0.5628291
1.61553 — 1.076801
1.036730 + 0.6275321

—1.62931 — 4.657991

—15.4888 + 5.29541

1.014210 — 0.5628291
1.61553 + 1.076801
1.036730 — 0.6275321

—1.62931 4 4.657991

—15.4888 — 5.29541

0.589347 + 0.5259281
= —0.333608 + 0.1501207
0.644384 — 0.5294021

—0.335782 + 0.1375831

—12.53131 — 0.754331

0.589347 — 0.5259281
—0.333608 — 0.1501207
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b= 0.644384 + 0.5294021

—0.335782 — 0.1375831

—12.53131 4 0.754331




Solutions to I V—1(vol + /—1CS) Cusp shape
u= 1.25934
a= 4.69391 12.1268 —18.9430
b= 3.12501

—1.128420 4+ 0.6866991
2.14185 + 3.380107

16.7915 + 8.27511

—16.0152 — 4.16691

b= 3.21915+ 0.282161
= —1.128420 — 0.6866991
= 2.14185 — 3.380107 16.7915 — 8.27511 —16.0152 4 4.16691
b= 3.21915 — 0.282161
= 0.420479
a = —0.615608 —0.632046 —15.6130
b= 0.318491




IL =W —vw+2u+b—u+1, " —u+u*+2u® —u?+a+2, ud—
u” — ub 4+ 2u® 4+ u?* — 2ud 4+ 2u — 1)

(i) Arc colorings

—u’ 4+ u® —ut =20 Fu? -2
—u" +ud —2ud tu—1

—u 4w —ut =2+ u?—2

(
(
(
(
a4( —u” b —2u® +u—1 )
(
(
(
(
(

u5+u
as = \u” —u® +2u® —u

—u —ut =2 —u—2
—2uT 4+ 20 —4ud +2u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —2u” — u® + 5u’ — 5u3 + u? + 4u — 17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

C1,C2 (u — 1)8

C3, Ct u8
€4 (u+1)°
€5 Wt =3 — 20 +3ut+2u—1
€6 W —uwb 2wt — 203+ 2u—1

cg, Co W —u" —3uS + 20 +3ut—2u—1
c10 u® —3u” + 7ub — 10u° + 11u* — 10u® + 6u® — du + 1
c11 wWu —ub -2 +ut+ 20 —2u—1
c12 u® 4 3u” + 7ub + 10u° + 11u* + 10u® + 6u® + du + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
8
C1,C2,C4 (y_l)
€3, C7 y8
Cs,C8,Cy Y — TyT +19y5 —229° + 3yt + 1493 —6y2 — 4y + 1
C6,C11 y® = 3y" 4+ Ty® — 10y° + 11y* — 10y% + 6% — 4y + 1
€10, C12 Y+ 5y + 11y + 615 — 17y* — 3493 — 229% — 4y + 1




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.570868 + 0.7306711
a = —0.805639 — 0.1833651
b= 0.320534 — 0.6339531

u =

—2.68559 4 1.131231

—13.47926 — 0.849291

u = 0.570868 — 0.730671I
a = —0.805639 + 0.1833651
b= 0.320534 4 0.6339531

—2.68559 — 1.131231

—13.47926 + 0.849291

u = —0.855237 4 0.6658921
a = —0.189481 — 1.3103801
b= —1.54709 — 0.161601

0.51448 4- 2.578491

—14.5054 — 3.23301

u = —0.855237 — 0.6658921
a = —0.189481 + 1.3103801
b= —1.54709 + 0.161601

0.51448 — 2.578491

—14.5054 + 3.23301

u = —1.09818

a= 0.729394 —8.14766 —19.4520
b= 0.879647
u = 1.031810 4 0.6554701

a= 0.708845 — 0.1694021
0.679246 + 0.8512421

—4.02461 — 6.443541

—15.2754 + 5.90531

u = 1.031810 — 0.6554701
a= 0.708845 + 0.1694021

—4.02461 4 6.443541

—15.2754 — 5.90531

b= 0.679246 — 0.8512421

uw= 0.603304

a = —2.15684 —2.48997 —15.0280
b= —0.785038
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

‘1 ((u—1)%)(u'* 4+ 35u!® + - - +57u+ 1)

2 (w=1*) (! 9 4+ 1)
c3, Cr ub(ut — Tu'® + .- — 640u — 256)

ca (u+ D)%) (u" = 9u" 4+ +u—1)

& (u® +u” —3ub — 2u° + 3u* +2u — 1)(u' + 20 4+ -+ 3u+1)
6 (W —u" 4+ 2u—1) (! —2uP - Fut1)
s, Co (u® —u” = 3ub +2u° + 3u* — 2u — 1)(u' +2uB 4+ -+ 3u+1)
c1o (u® — 3u” 4 Tu® — 10u® + 11u* — 10u® 4 6u® — 4u + 1)

S 6ut 4+ Ju 1)
c1 (W +u" - —2u—1)(ut =2+ Fu41)
12 (u® 4 3u” + 7u® + 10u° + 11u* + 100® + 6u” + 4u + 1)

C(uMt 4 6ut 4+ 9u 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
“ (y — )% (Y™ — 21591 + ... — 1173y + 1)
C2,C4 ((y— D% (" = 35y" + - = 5Ty + 1)
c3,¢7 Y (y** — 75y + - + 16384y + 65536)
cncsco | W0 =Ty 199" — 2257 4 3y + 14y® — 6y — 4y + 1)
(M =30y 4 =9y + 1)
Cg, C11 (yS - 3y7 + 7y6 — 10y5 + 11y4 — 10y3 + 6y2 _ 4y + 1)
Sy -6y 4+ =9y 1)
c10, €12 (y® +5y" +11y° + 6y° — 17y" — 34y° — 229° — dy + 1)

Sy 6yt 4 — 25y + 1)
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